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1 #include #include #define MAXNUM 200 int xx[ MAXNUM].int
totNum=0. /*0 O IN.DATO O O 0O 0O O O O O */int totCnt=0. /*
OO000000000 O */double totPjz=0.0. /*UJ OO I */ int
ReadDat(void).void writeDat(void). void CalValue(void){ int
L,gw,bw,sw,gw.for(i=0.iif(xx[1]>0) { totNum
.gw=xx[1]/1000.bw=xx[1]/100.sw=xx[1]0/10.gw=xx[i].if((qw bw sw
gw)%2==0) { totCnt . totPjz =xx[i].}}if(totCnt==0) totPjz=0.else
totPjz/=totCnt.} void main(){int
I.clrscr().for(i=0.1if(ReadDat()){printf("LJ O O T IN.DATO O O
[1 NOO7\n").return.}CalValue().printf("UJ O IN.DATO O 0O O O

[ =%d \n" totNum).printf("U O 0 0 0O 0O 0O 0O O O O =%d

L \n",totCnt).printf(" O 0O =%.2\n",totPjz).writeDat().} int
ReadDat(void){FILE *fp.int i=0.
If((fp=fopen("IN.DAT","r"))==NULL) return
1.while(!feof(fp)){fscanf(fp,"%d,",&amp.xx[i ]).}close(fp).return
0.} void writeDat(void){FILE



*fp.fp=fopen("OUT.DAT","w").fprintf(fp,"%d\n%d\n%6.2f\n" tot
Num,totCnt,totPjz).fclose(fp).} 100Test 0 O O 0O 0 0O 0O U O O
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